# PERIODIC SOLUTIONS OF PARTIAL FUNCTIONAL DIFFERENTIAL EQUATIONS 

QIUYI SU AND SHIGUI RUAN<br>(Communicated by Wenxian Shen)


#### Abstract

In this paper we study the existence of periodic solutions to the partial functional differential equation $$
\left\{\begin{array}{l} \frac{d y(t)}{d t}=B y(t)+\hat{L}\left(y_{t}\right)+f\left(t, y_{t}\right), \forall t \geq 0 \\ y_{0}=\varphi \in C_{B} \end{array}\right.
$$ where $B: Y \rightarrow Y$ is a Hille-Yosida operator on a Banach space $Y$. For $C_{B}:=$ $\{\varphi \in C([-r, 0] ; Y): \varphi(0) \in \overline{D(B)}\}, y_{t} \in C_{B}$ is defined by $y_{t}(\theta)=y(t+\theta)$, $\theta \in[-r, 0], \hat{L}: C_{B} \rightarrow Y$ is a bounded linear operator, and $f: \mathbb{R} \times C_{B} \rightarrow Y$ is a continuous map and is $T$-periodic in the time variable $t$. Sufficient conditions on $B, \hat{L}$ and $f\left(t, y_{t}\right)$ are given to ensure the existence of $T$-periodic solutions. The results then are applied to establish the existence of periodic solutions in a reaction-diffusion equation with time delay and the diffusive Nicholson's blowflies equation.


## 1. Introduction

The aim of this paper is to study the existence of periodic solutions for the following partial functional differential equation (PFDE):

$$
\left\{\begin{array}{l}
\frac{d y(t)}{d t}=B y(t)+\hat{L}\left(y_{t}\right)+f\left(t, y_{t}\right), \forall t \geq 0,  \tag{1.1}\\
y_{0}=\varphi \in C_{B} .
\end{array}\right.
$$

where $B: Y \rightarrow Y$ is a Hille-Yosida operator on a Banach space $Y$. Denote $C_{B}:=$ $\{\varphi \in C([-r, 0] ; Y): \varphi(0) \in \overline{D(B)}\} . \quad y_{t} \in C_{B}$ is defined by $y_{t}(\theta)=y(t+\theta)$, $\theta \in[-r, 0], \hat{L}: C_{B} \rightarrow Y$ is a bounded linear operator, and $f: \mathbb{R} \times C_{B} \rightarrow Y$ is a continuous map and is $T$-periodic in the time variable $t$.

The existence of periodic solutions in abstract evolution equations has been widely studied in the literature. By applying Horn's fixed point theorem to the Poincaré map, Liu [12] and Ezzinbi and Liu [7] established the existence of bounded and ultimate bounded solutions of evolution equations with or without delay, which contains partial functional differential equation, implying the existence of periodic solutions. Benkhalti and Ezzinbi [2] and Kpoumiè et al. [9] proved that under some conditions, the existence of a bounded solution for some non-densely defined

[^0]nonautonomous partial functional differential equations implies the existence of periodic solutions. The approach was to construct a map on the space of $T$-periodic functions from the corresponding nonhomogeneous linear equation and use a fixedpoint theorem concerning set-valued maps. Li 10 used analytic semigroup theory to discuss the existence and stability of periodic solutions in evolution equations with multiple delays. Li et al. [11] proved several Massera-type criteria for linear periodic evolution equations with delay and applied the results to nonlinear evolution equations, functional, and partial differential equations. For fundamental theories on partial functional differential equations, we refer to the monograph of Wu 17.

In this paper, we study the existence of periodic solutions of the partial functional differential equation (1.1). In section 2, we recall some preliminary results on existence of mild periodic solutions of abstract semilinear equations. In section 3 , using the existence theorem of mild periodic solutions presented in section 2, we show the existence of periodic mild solutions of partial functional differential equations. In section 4, we apply the main results of this paper to a reactiondiffusion equation with time delay and the diffusive Nicholson's blowflies equation.

## 2. Preliminary results

In this section, we first recall an existence theorem of classical solutions of partial functional differential equations. Then we review a theorem obtained in Su and Ruan [16, which will be applied to prove our main theorem in the next section.

Consider an abstract semilinear functional differential equation on a Banach space X given by

$$
\left\{\begin{array}{l}
\frac{d u(t)}{d t}=A_{0} u(t)+F\left(t, u_{t}\right), \forall t \geq 0,  \tag{2.1}\\
u_{0}=\varphi \in C_{X},
\end{array}\right.
$$

where $A_{0}: D\left(A_{0}\right) \subseteq X \rightarrow X$ is a linear Hille-Yosida operator, $C_{X}=C([-r, 0], X)$ denotes the space of continuous functions from $[-r, 0]$ to $X$ with the uniform convergence topology. $u_{t}(\theta)=u(t+\theta)$ for $\theta \in[-r, 0], F$ is a function from $[0, \infty) \times C_{X}$ into $X$, and $\varphi \in C_{X}$ is the given initial value.

The following theorem gives the existence of classical solutions of problem (2.1).
Theorem 2.1 (Ezzinbi and Adimy [6, Theorem 13]). Assume that $F(t, \varphi)$ is continuous differentiable and satisfies the following locally Lipschitz conditions: for each $\alpha>0$ there exists a constant $C_{1}(\alpha)>0$ such that

$$
\begin{gathered}
\left|F\left(t, \varphi_{1}\right)-F\left(t, \varphi_{2}\right)\right| \leq C_{1}(\alpha)\left\|\varphi_{1}-\varphi_{2}\right\|, \\
\left|D_{t} F\left(t, \varphi_{1}\right)-D_{t} F\left(t, \varphi_{2}\right)\right| \leq C_{1}(\alpha)\left\|\varphi_{1}-\varphi_{2}\right\|, \\
\left|D_{\varphi} F\left(t, \varphi_{1}\right)-D_{\varphi} F\left(t, \varphi_{2}\right)\right| \leq C_{1}(\alpha)\left\|\varphi_{1}-\varphi_{2}\right\|
\end{gathered}
$$

for all $t \in\left[0, T_{\varphi}\right]$ and $\varphi_{1}, \varphi_{2} \in C_{X}$ with $\left\|\varphi_{1}\right\|,\left\|\varphi_{2}\right\| \leq \alpha$, where $D_{t} F$ and $D_{\varphi} F$ denote the derivatives of $F(t, \varphi)$ with respect to $t$ and $\varphi$, respectively. For given $\varphi \in C_{X}^{1}:=C^{1}([-r, 0], X)$ such that

$$
\varphi(0) \in D\left(A_{0}\right), \varphi^{\prime}(0) \in \overline{D\left(A_{0}\right)} \text { and } \varphi^{\prime}(0)=A_{0} \varphi(0)+F(0, \varphi),
$$

let $u(., \varphi):\left[-r, T_{\varphi}\right) \rightarrow X$ be the unique integral solution of equation (2.1). Then, $u(., \varphi)$ is continuously differentiable on $\left[-r, T_{\varphi}\right)$ and satisfies equation (2.1).

Now consider the abstract semilinear equation

$$
\begin{equation*}
\frac{d u}{d t}=A u(t)+F(t, u(t)), \quad t \geq 0 \tag{2.2}
\end{equation*}
$$

in a Banach space $X$, where $A$ is a linear operator on $X$ (not necessarily densely defined) satisfying the Hille-Yoshida condition (see the following) and $F:[0, \infty) \times$ $\overline{D(A)} \rightarrow X$ is continuous and $T$-periodic in $t$.

## Assumption 2.2.

(H1) There exist $M \geq 1$ and $\omega \in \mathbb{R}$ such that $(\omega, \infty) \subset \rho(A)$ and $\left\|(\lambda I-A)^{-n}\right\|_{L(X)}$ $\leq \frac{M}{(\lambda-\omega)^{n}}$ for $\lambda>\omega, n \geq 1 ;$
(H2) $F:[0, \infty) \times \overline{D(A)} \rightarrow X$ is continuous and Lipschitz on bounded sets; i.e., for each $C>0$ there exists $K_{F}(C) \geq 0$ such that $\|F(t, u)-F(t, v)\| \leq$ $K_{F}(C)\|u-v\|$ for $t \in[0, \infty)$ and $\|u\| \leq C$ and $\|v\| \leq C$;
(H3) $F:[0, \infty) \times \overline{D(A)} \rightarrow X$ is continuous and bounded on bounded sets; i.e., there exists $L_{F}(T, \rho) \geq 0$ such that $\|F(t, u)\| \leq L_{F}(T, \rho)$ for $t \leq T$ and $\|u\| \leq \rho$.

Definition 2.3. A linear operator $A: D(A) \subset X \rightarrow X$ satisfying Assumption 2.2 (H1) is called a Hille-Yosida operator.

With these assumptions, we have the following result for equation (2.2).
Theorem 2.4 (Su and Ruan [16, Theorem 3.3]). Let Assumption 2.2 hold with $\omega<0, M=1$ and $F$ being $T$-periodic in $t$. Suppose that there exists $\rho>0$ such that $(N+T) K_{F}(\rho)<1$ and $(N+T) L_{F}(T, \rho) \leq \rho$, where $N=\frac{T}{1-e^{\omega T}}$. Then the abstract semilinear equation (2.2) has a mild T-periodic solution.

## 3. EXIStENCE OF PERIODIC SOLUTIONS

In this section, we rewrite the partial functional differential equation as an abstract semilinear equation and present an existence theorem of periodic solutions.

Let $B: D(B) \subset Y \rightarrow Y$ be a linear operator on a Banach space $\left(Y,\|\cdot\|_{Y}\right)$. Assume that $B$ is a Hille-Yosida operator; that is, there exist $\omega_{B} \in \mathbb{R}$ and $M_{B}>0$ such that $\left(\omega_{B},+\infty\right) \subset \rho(B)$ and

$$
\left\|(\lambda I-B)^{-n}\right\| \leq \frac{M_{B}}{\left(\lambda-\omega_{B}\right)^{n}}, \forall \lambda>\omega_{B}, n \geq 1
$$

Set $Y_{0}:=\overline{D(B)}$. Consider the part of $B$ in $Y_{0}$, denoted $B_{0}$, which is defined by

$$
B_{0} y=B y, \forall y \in D\left(B_{0}\right)
$$

with

$$
D\left(B_{0}\right):=\left\{y \in D(B): B y \in Y_{0}\right\}
$$

For $r \geq 0$, set $C:=C([-r, 0] ; Y)$ endowed with the supremum norm

$$
\|\varphi\|_{\infty}=\sup _{\theta \in[-r, 0]}\|\varphi(\theta)\|_{Y}
$$

Consider the PFDE

$$
\left\{\begin{array}{l}
\frac{d y(t)}{d t}=B y(t)+\hat{L}\left(y_{t}\right)+f\left(t, y_{t}\right), \forall t \geq 0  \tag{3.1}\\
y_{0}=\varphi \in C_{B}
\end{array}\right.
$$

where $C_{B}:=\{\varphi \in C([-r, 0] ; Y): \varphi(0) \in \overline{D(B)}\}, y_{t} \in C_{B}$ is defined by $y_{t}(\theta)=$ $y(t+\theta), \theta \in[-r, 0], \hat{L}: C_{B} \rightarrow Y$ is a bounded linear operator, and $f: \mathbb{R} \times C_{B} \rightarrow Y$ is a continuous map.

Now we rewrite the PFDE (3.1) as an abstract non-densely defined Cauchy problem such that our theorems can be applied. Firstly, following Ducrot et al. 5 we regard the PFDE (3.1) as a PDE. Define $u \in C([0,+\infty) \times[-r, 0], Y)$ by

$$
u(t, \theta)=y(t+\theta), \forall t \geq 0, \forall \theta \in[-r, 0] .
$$

If $y \in C^{1}([-r,+\infty), Y)$, then

$$
\frac{\partial u(t, \theta)}{\partial t}=y^{\prime}(t+\theta)=\frac{\partial u(t, \theta)}{\partial \theta}
$$

Moreover, for $\theta=0$, we obtain
$\frac{\partial u(t, 0)}{\partial \theta}=y^{\prime}(t)=B y(t)+\hat{L}\left(y_{t}\right)+f\left(t, y_{t}\right)=B u(t, 0)+\hat{L}(u(t,))+.f(t, u(t,)),. \forall t \geq 0$.
Therefore, we deduce that $u$ satisfy a PDE

$$
\left\{\begin{array}{l}
\frac{\partial u(t, \theta)}{\partial t}-\frac{\partial u(t, \theta)}{\partial \theta}=0,  \tag{3.2}\\
\frac{\partial u(t, 0)}{\partial \theta}=B u(t, 0)+\hat{L}(u(t, .))+f(t, u(t, .)), \forall t \geq 0, \\
u(0, .)=\varphi \in C_{B}
\end{array}\right.
$$

In order to write the PDE (3.2) as an abstract non-densely defined Cauchy problem, we extend the state space to take into account the boundary conditions. Let $X=$ $Y \times C$ with the usual product norm

$$
\left\|\binom{y}{\varphi}\right\|=\|y\|_{Y}+\|\varphi\|_{\infty} .
$$

Define the linear operator $A: D(A) \subset X \rightarrow X$ by

$$
\begin{equation*}
A\binom{0_{Y}}{\varphi}=\binom{-\varphi^{\prime}(0)+B \varphi(0)}{\varphi^{\prime}}, \forall\binom{0_{Y}}{\varphi} \in D(A) \tag{3.3}
\end{equation*}
$$

with

$$
D(A)=\left\{0_{Y}\right\} \times\left\{\varphi \in C^{1}([-r, 0], Y), \varphi(0) \in D(B)\right\}
$$

Note that $A$ is non-densely defined because

$$
X_{0}:=\overline{D(A)}=0_{Y} \times C_{B} \neq X
$$

Now define $L: X_{0} \rightarrow X$ by

$$
L\binom{0_{Y}}{\varphi}:=\binom{\hat{L}(\varphi)}{0_{C}}
$$

and $F: \mathbb{R} \times X_{0} \rightarrow X$ by

$$
F\left(t,\binom{0_{Y}}{\varphi}\right):=\binom{f(t, \varphi)}{0_{C}}
$$

Let

$$
v(t):=\binom{0_{Y}}{u(t)} .
$$

Then we can rewrite the PDE (3.2) as the following non-densely defined Cauchy problem

$$
\begin{equation*}
\frac{d v(t)}{d t}=A v(t)+L(v(t))+F(t, v(t)), t \geq 0 ; v(0)=\binom{0_{Y}}{\varphi} \in X_{0} \tag{3.4}
\end{equation*}
$$

To state an existence theorem of periodic solutions for equation (3.1), we make the following assumptions.

## Assumption 3.1.

(C1) $f: \mathbb{R} \times C_{B} \rightarrow Y$ is Lipschitz on bounded sets; i.e., for each $C>0$ there exists $K_{f}(C) \geq 0$ such that $\|f(t, u)-f(t, v)\| \leq K_{f}(C)\|u-v\|$ for $t \in[0, \infty)$ and $\|u\| \leq C$ and $\|v\| \leq C ;$
(C2) $f: \mathbb{R} \times C_{B} \rightarrow Y$ is bounded on bounded sets; i.e., there exists $L_{f}(T, \rho) \geq 0$ such that $\|f(t, u)\| \leq L_{f}(T, \rho)$ for $t \leq T$ and $\|u\| \leq \rho$.

With these assumptions, we have the following result for equation (3.1).
Theorem 3.2. Let Assumption 3.1 hold with $\omega_{B}<0, M_{B}=1$ and $f$ being $T$ periodic in $t$. Suppose that there exists $\rho>0$ such that $(N+T)\left(K_{f}(\rho)+\|\hat{L}\|_{\rho}\right)<1$ and $(N+T)\left(L_{f}(T, \rho)+\|\hat{L}\|_{\rho} \rho\right) \leq \rho$, where $N=\frac{T}{1-e^{\omega_{B}{ }^{T}}}$, then equation (3.1) has a T-periodic mild solution.

Proof. Since (3.1) can be written as (3.4), denote $G(t, v(t))=L(v(t))+F(t, v(t))$, it suffices to prove that
(a) $A$ satisfies Assumption 2.2 (H1) with $\omega=\omega_{B}<0$ and $M=1$;
(b) $G:[0, \infty) \times\left\{0_{Y}\right\} \times C_{B} \rightarrow Y \times C$ satisfies Assumption 2.2 (H1) (H2);
(c) There exists $\rho>0$ such that $(N+T) K_{G}(\rho)<1$ and $(N+T) L_{G}(T, \rho) \leq \rho$, where $N=\frac{T}{1-e^{\omega T}}=\frac{T}{1-e^{\omega} B^{T}}$.
It follows from Theorem 2.4 that equation (3.4) has a $T$-periodic mild solution, which implies that equation (3.1) has a $T$-periodic mild solution with initial value $u(0,)=.\varphi \in C_{B}$.

From Lemma 3.6 and its proof in Ducrot et al. [5, we know that $A$ as defined in (3.3) is a Hille-Yoshida operator with $\omega=\omega_{B}<0$ and $M=M_{B}=1$, which proves (a).

For $\varphi_{1}, \varphi_{2} \in C_{B}$ such that $\left\|\varphi_{1}\right\| \leq C$ and $\left\|\varphi_{2}\right\| \leq C$, we have

$$
\binom{0_{Y}}{\varphi_{1}},\binom{0_{Y}}{\varphi_{2}} \in 0_{Y} \times C_{B}=\overline{D(A)}
$$

and

$$
\left\|\binom{0_{Y}}{\varphi_{1}}\right\|=\left\|\varphi_{1}\right\| \leq C,\left\|\binom{0_{Y}}{\varphi_{2}}\right\|=\left\|\varphi_{2}\right\| \leq C .
$$

Then

$$
\begin{aligned}
& \left\|G\left(t,\binom{0_{Y}}{\varphi_{1}}\right)-G\left(t,\binom{0_{Y}}{\varphi_{2}}\right)\right\| \\
& \quad=\left\|L\left(\binom{0_{Y}}{\varphi_{1}}\right)-L\left(\binom{0_{Y}}{\varphi_{2}}\right)+F\left(t,\binom{0_{Y}}{\varphi_{1}}\right)-F\left(t,\binom{0_{Y}}{\varphi_{2}}\right)\right\| \\
& \quad \leq\left\|L\left(\binom{0_{Y}}{\varphi_{1}}\right)-L\left(\binom{0_{Y}}{\varphi_{2}}\right)\right\|+\left\|F\left(t,\binom{0_{Y}}{\varphi_{1}}\right)-F\left(t,\binom{0_{Y}}{\varphi_{2}}\right)\right\| \\
& \quad=\left\|\binom{\hat{L}\left(\varphi_{1}-\varphi_{2}\right)}{0_{C}}\right\|+\left\|\binom{f\left(t, \varphi_{1}\right)-f\left(t, \varphi_{2}\right)}{0_{C}}\right\| \\
& \quad=\left\|\hat{L}\left(\varphi_{1}-\varphi_{2}\right)\right\|_{Y}+\left\|f\left(t, \varphi_{1}\right)-f\left(t, \varphi_{2}\right)\right\|_{Y}
\end{aligned}
$$

$$
\begin{aligned}
& \leq K_{f}(C)\left\|\varphi_{1}-\varphi_{2}\right\|+\|\hat{L}\|_{C}\left\|\varphi_{1}-\varphi_{2}\right\| \\
& =\left(K_{f}(C)+\|\hat{L}\|_{C}\right)\left\|\varphi_{1}-\varphi_{2}\right\| \\
& =\left(K_{f}(C)+\|\hat{L}\|_{C}\right)\left\|\binom{0_{Y}}{\varphi_{1}}-\binom{0_{Y}}{\varphi_{2}}\right\| .
\end{aligned}
$$

So there exists $K_{G}(C)=K_{f}(C)+\|\hat{L}\|_{C}$ such that

$$
\left\|G\left(t,\binom{0_{Y}}{\varphi_{1}}\right)-G\left(t,\binom{0_{Y}}{\varphi_{2}}\right)\right\| \leq K_{G}(C)\left\|\binom{0_{Y}}{\varphi_{1}}-\binom{0_{Y}}{\varphi_{2}}\right\| .
$$

Furthermore, for $t \leq T$ and $\left\|\binom{0_{Y}}{\varphi}\right\| \leq \rho$, we have

$$
\begin{aligned}
\left\|G\left(t,\binom{0_{Y}}{\varphi}\right)\right\| & =\left\|L\binom{0_{Y}}{\varphi}+F\left(t,\binom{0_{Y}}{\varphi}\right)\right\| \\
& \leq\left\|L\binom{0_{Y}}{\varphi}\right\|+\left\|F\left(t,\binom{0_{Y}}{\varphi}\right)\right\| \\
& =\left\|\binom{\hat{L}(\varphi)}{0_{C}}\right\|+\left\|\binom{f(t, \varphi)}{0_{C}}\right\| \\
& =\|\hat{L}(\varphi)\|_{Y}+\|f(t, \varphi)\|_{Y} \\
& \leq\|\hat{L}\|_{\rho} \rho+L_{f}(T, \rho) .
\end{aligned}
$$

So there exists $L_{G}(T, \rho)=\|\hat{L}\|_{\rho} \rho+L_{f}(T, \rho)$ such that $\left\|G\left(t,\binom{0_{Y}}{\varphi}\right)\right\| \leq L_{G}(T, \rho)$, which completes the proof of (b).

With $K_{G}(C)$ and $L_{G}(T, \rho)$ given as above, (c) follows directly from the assumptions.

## 4. Applications

In this section, we apply the results in last section to a reaction-diffusion equation with time delay and the diffusive Nicholson's blowflies equation.
4.1. A reaction-diffusion equation with time delay. Let us consider the following periodic reaction-diffusion equation with time delay:

$$
\left\{\begin{array}{l}
\frac{\partial u(t, x)}{\partial t}=\frac{\partial^{2} u(t, x)}{\partial x^{2}}-a u(x, t)-b(t) u(x, t-r), 0 \leq x \leq 1, t \geq 0  \tag{4.1}\\
u(0, t)=u(1, t)=k, t \geq 0 \\
u(x, t)=\phi(t)(x), 0 \leq x \leq 1,-r \leq t \leq 0
\end{array}\right.
$$

where $k$ is a constant and $a \geq 0, b \in C\left([0, \infty), \mathbb{R}_{+}\right)$is $T$-periodic. We will study the existence of $T$-periodic solution of problem (4.1).

Let $v(x, t)=u(x, t)-k$, then we have the following equation:

$$
\left\{\begin{array}{l}
\frac{\partial v(t, x)}{\partial t}=\frac{\partial^{2} v(t, x)}{\partial x^{2}}-a v(x, t)-b(t) v(x, t-r)-k a-k b(t), 0 \leq x \leq 1, t \geq 0  \tag{4.2}\\
v(0, t)=v(1, t)=0, t \geq 0 \\
v(x, t)=\phi(t)(x)-k, 0 \leq x \leq 1,-r \leq t \leq 0
\end{array}\right.
$$

We know that the existence of $T$-periodic solutions of equation (4.2) is equivalent to the existence of $T$-periodic solutions of equation (4.1).

Let $X=C(0,1)$ and $B: X \rightarrow X$ be defined by

$$
B \phi=\phi^{\prime \prime}-a \phi
$$

with

$$
D(B)=\left\{\phi \in C^{2}([0,1], \mathbb{R}), \phi(0)=\phi(1)=0\right\} .
$$

Let $C_{B}:=\{\phi \in C([-r, 0], X): \phi(0) \in \overline{D(B)}\}$ and define $f:[0, \infty) \times C_{B} \rightarrow X$ by

$$
f(t, \phi)=-b(t) \phi(-r)-k a-k b(t) .
$$

Then equation (4.2) can be written as

$$
\left\{\begin{array}{l}
\frac{d y(t)}{d t}=B y(t)+f\left(t, y_{t}\right), t \geq 0  \tag{4.3}\\
y_{0}=\varphi \in C_{B}
\end{array}\right.
$$

Proposition 4.1. Assume that
(i) $a>0,0 \leq b(t) \leq b_{+}$and $b(t+T)=b(t)$ for $t \geq 0$;
(ii) $\left(\frac{T}{1-e^{-a T}}+T\right) b_{+}<1$;
(iii) There exists $\rho>0$ such that $\left(\frac{T}{1-e^{-a T}}+T\right)\left(k a+k b_{+}+b_{+} \rho\right) \leq \rho$.

Then equation (4.2) thus (4.1) has a T-periodic solution.
Proof. Since equation (4.2) can be written as (4.3), it suffices to check the assumptions of Theorem 3.2. Let $\psi \in X$ and let $\lambda>-a$. Then

$$
(\lambda I-B) \varphi=\psi \Leftrightarrow(\lambda+a) \varphi-\varphi^{\prime \prime}=\psi
$$

Set $\hat{\varphi}=\varphi^{\prime}$. Then

$$
\begin{gathered}
(\lambda I-B) \varphi=\psi \Leftrightarrow\left\{\begin{array}{l}
\varphi^{\prime}=\hat{\varphi} \\
\hat{\varphi}^{\prime}=(\lambda+a) \varphi-\psi
\end{array}\right. \\
\Leftrightarrow\left\{\begin{array}{l}
\sqrt{\lambda+a} \varphi^{\prime}+\hat{\varphi}^{\prime}=\sqrt{\lambda+a}(\sqrt{\lambda+a} \varphi+\hat{\varphi})-\psi \\
\sqrt{\lambda+a} \varphi^{\prime}-\hat{\varphi}^{\prime}=-\sqrt{\lambda+a}(\sqrt{\lambda+a} \varphi-\hat{\varphi})+\psi
\end{array}\right.
\end{gathered}
$$

Define

$$
\begin{aligned}
& w=(\sqrt{\lambda+a} \varphi+\hat{\varphi}), \\
& \hat{w}=(\sqrt{\lambda+a} \varphi-\hat{\varphi}) .
\end{aligned}
$$

Then we have

$$
(\lambda I-B) \varphi=\psi \Leftrightarrow\left\{\begin{array}{l}
w^{\prime}=\sqrt{\lambda+a} w-\psi  \tag{4.4}\\
\hat{w}^{\prime}=-\sqrt{\lambda+a} \hat{w}+\psi
\end{array}\right.
$$

The first equation of (4.4) is equivalent to

$$
\begin{equation*}
e^{-\sqrt{\lambda+a} x} w(x)=e^{-\sqrt{\lambda+a} y} w(y)-\int_{y}^{x} e^{-\sqrt{\lambda+a} l} \psi(l) d l, \forall x \geq y . \tag{4.5}
\end{equation*}
$$

In (4.5) let $y=0$, then we obtain

$$
\begin{equation*}
w(x)=e^{\sqrt{\lambda+a} x} w(0)-e^{\sqrt{\lambda+a} x} \int_{0}^{x} e^{-\sqrt{\lambda+a} l} \psi(l) d l \tag{4.6}
\end{equation*}
$$

where $w(0)=\sqrt{\lambda+a} \varphi(0)+\hat{\varphi}(0)=\hat{\varphi}(0)$. In (4.5) let $x=1$, we have

$$
\begin{equation*}
w(y)=e^{\sqrt{\lambda+a} y-\sqrt{\lambda+a}} w(1)+e^{\sqrt{\lambda+a} y} \int_{y}^{1} e^{-\sqrt{\lambda+a} l} \psi(l) d l \tag{4.7}
\end{equation*}
$$

where $w(1)=\sqrt{\lambda+a} \varphi(1)+\hat{\varphi}(1)=\hat{\varphi}(1)$.

The second equation of (4.4) is equivalent to

$$
\begin{equation*}
e^{\sqrt{\lambda+a} x} \hat{w}(x)=e^{\sqrt{\lambda+a} y} \hat{w}(y)+\int_{y}^{x} e^{\sqrt{\lambda+a} l} \psi(l) d l, \forall x \geq y \tag{4.8}
\end{equation*}
$$

In (4.8) let $y=0$, then we have

$$
\begin{equation*}
\hat{w}(x)=e^{-\sqrt{\lambda+a} x} \hat{w}(0)+e^{-\sqrt{\lambda+a} x} \int_{0}^{x} e^{\sqrt{\lambda+a} l} \psi(l) d l \tag{4.9}
\end{equation*}
$$

where $\hat{w}(0)=\sqrt{\lambda+a} \varphi(0)-\hat{\varphi}(0)=-\hat{\varphi}(0)$. In (4.8) let $x=1$, we have

$$
\begin{equation*}
\hat{w}(y)=e^{\sqrt{\lambda+a}-\sqrt{\lambda+a} y} \hat{w}(1)-e^{-\sqrt{\lambda+a} y} \int_{y}^{1} e^{\sqrt{\lambda+a} l} \psi(l) d l \tag{4.10}
\end{equation*}
$$

where $\hat{w}(1)=\sqrt{\lambda+a} \varphi(1)-\hat{\varphi}(1)=-\hat{\varphi}(1)$.
From (4.6) and (4.9), we have

$$
\begin{equation*}
e^{2 \sqrt{\lambda+a} x} \hat{w}(x)+w(x)=\int_{0}^{x} e^{\sqrt{\lambda+a} x}\left(e^{\sqrt{\lambda+a} l}-e^{-\sqrt{\lambda+a} l}\right) \psi(l) d l, \tag{4.11}
\end{equation*}
$$

where $x \in[0,1]$. Combining (4.7) and (4.10), we obtain

$$
\begin{equation*}
e^{2 \sqrt{\lambda+a}(1-x)} w(x)+\hat{w}(x)=\int_{x}^{1} e^{-\sqrt{\lambda+a} x}\left(e^{2 \sqrt{\lambda+a}-\sqrt{\lambda+a} l}-e^{\sqrt{\lambda+a} l}\right) \psi(l) d l . \tag{4.12}
\end{equation*}
$$

Since $\hat{w}=\sqrt{\lambda+a} \varphi-\hat{\varphi}$ and $w=\sqrt{\lambda+a} \varphi+\hat{\varphi}$, (4.11) and (4.12) can be written as (4.13)

$$
\sqrt{\lambda+a}\left(e^{2 \sqrt{\lambda+a} x}+1\right) \varphi+\left(1-e^{2 \sqrt{\lambda+a} x}\right) \hat{\varphi}=\int_{0}^{x} e^{\sqrt{\lambda+a} x}\left(e^{\sqrt{\lambda+a l}}-e^{-\sqrt{\lambda+a} l}\right) \psi(l) d l
$$

and

$$
\begin{align*}
& \left(e^{2 \sqrt{\lambda+a}(1-x)}+1\right) \sqrt{\lambda+a} \varphi+\left(e^{2 \sqrt{\lambda+a}(1-x)}-1\right) \hat{\varphi}  \tag{4.14}\\
& \quad=\int_{x}^{1} e^{-\sqrt{\lambda+a} x}\left(e^{2 \sqrt{\lambda+a}-\sqrt{\lambda+a} l}-e^{\sqrt{\lambda+a} l}\right) \psi(l) d l .
\end{align*}
$$

Combining (4.13) and (4.14), we have the following

$$
\begin{aligned}
& \varphi(x)= \frac{\left(e^{2 \sqrt{\lambda+a}-\sqrt{\lambda+a} x}-e^{\sqrt{\lambda+a} x}\right) \int_{0}^{x}\left(e^{\sqrt{\lambda+a} l}-e^{-\sqrt{\lambda+a}}\right) \psi(l) d l}{2 \sqrt{\lambda+a}\left(e^{2 \sqrt{\lambda+a}}-1\right)} \\
&-\frac{\left(e^{-\sqrt{\lambda+a} x}-e^{\sqrt{\lambda+a} x}\right) \int_{x}^{1}\left(e^{2 \sqrt{\lambda+a}-\sqrt{\lambda+a} l}-e^{\sqrt{\lambda+a} l}\right) \psi(l) d l}{2 \sqrt{\lambda+a}\left(e^{2 \sqrt{\lambda+a}}-1\right)} \\
&= \frac{\int_{0}^{x}\left(e^{2 \sqrt{\lambda+a}-\sqrt{\lambda+a}(x-l)}-e^{2 \sqrt{\lambda+a}-\sqrt{\lambda+a}(x+l)}-e^{\sqrt{\lambda+a}(x+l)}+e^{\sqrt{\lambda+a}(x-l)}\right) \psi(l) d l}{2 \sqrt{\lambda+a}\left(e^{2 \sqrt{\lambda+a}}-1\right)} \\
&-\frac{\int_{x}^{1}\left(e^{2 \sqrt{\lambda+a}-!\sqrt{\lambda+a}(x+l)}-e^{\sqrt{\lambda+a}(l-x)}-e^{2 \sqrt{\lambda+a}-\sqrt{\lambda+a}(l-x)}+e^{\sqrt{\lambda+a}(x+l)}\right) \psi(l) d l}{2 \sqrt{\lambda+a}\left(e^{2 \sqrt{\lambda+a}}-1\right)} \\
&=\left.\frac{\int_{0}^{x}\left(e^{2 \sqrt{\lambda+a}}-\sqrt{\lambda+a}|x-l|\right.}{}-e^{2 \sqrt{\lambda+a}-\sqrt{\lambda+a}(x+l)}-e^{\sqrt{\lambda+a}(x+l)}+e^{\sqrt{\lambda+a}|x-l|}\right) \psi(l) d l \\
& 2 \sqrt{\lambda+a}\left(e^{2 \sqrt{\lambda+a}}-1\right) \\
&+\frac{\int_{x}^{1}\left(e^{2 \sqrt{\lambda+a}-\sqrt{\lambda+a}|l-x|}-e^{2 \sqrt{\lambda+a}-\sqrt{\lambda+a}(x+l)}-e^{\sqrt{\lambda+a}(x+l)}+e^{\sqrt{\lambda+a}|l-x|}\right) \psi(l) d l}{2 \sqrt{\lambda+a}\left(e^{2 \sqrt{\lambda+a}}-1\right)}
\end{aligned}
$$

$$
=\frac{\int_{0}^{1}\left(e^{2 \sqrt{\lambda+a}-\sqrt{\lambda+a}|x-l|}-e^{2 \sqrt{\lambda+a}-\sqrt{\lambda+a}(x+l)}-e^{\sqrt{\lambda+a}(x+l)}+e^{\sqrt{\lambda+a}|x-l|}\right) \psi(l) d l}{2 \sqrt{\lambda+a}\left(e^{2 \sqrt{\lambda+a}}-1\right)} .
$$

Since $\varphi \in \overline{D(A)}$, it follows that

$$
\begin{aligned}
& \|\varphi\| \\
& =\sup _{x \in[0,1]}|\varphi(x)| \\
& =\sup _{x \in[0,1]}\left|\frac{\int_{0}^{1}\left(e^{2 \sqrt{\lambda+a}-\sqrt{\lambda+a}|x-l|}-e^{2 \sqrt{\lambda+a}-\sqrt{\lambda+a}(x+l)}-e^{\sqrt{\lambda+a}(x+l)}+e^{\sqrt{\lambda+a}|x-l|}\right) \psi(l) d l}{2 \sqrt{\lambda+a}\left(e^{2 \sqrt{\lambda+a}}-1\right)}\right| .
\end{aligned}
$$

Since $e^{2 \sqrt{\lambda+a}-\sqrt{\lambda+a}|x-l|}-e^{2 \sqrt{\lambda+a}-\sqrt{\lambda+a}(x+l)}-e^{\sqrt{\lambda+a}(x+l)}+e^{\sqrt{\lambda+a}|x-l|} \geq 0$ for $x \in$ $[0,1]$ and $l \in[0,1]$, we have

$$
\begin{aligned}
& \|\varphi\| \\
& \leq \sup _{x \in[0,1]}|\psi(x)| \sup _{x \in[0,1]} \frac{\int_{0}^{1}\left|e^{2 \sqrt{\lambda+a}-\sqrt{\lambda+a}|x-l|}-e^{2 \sqrt{\lambda+a}-\sqrt{\lambda+a}(x+l)}-e^{\sqrt{\lambda+a}(x+l)}+e^{\sqrt{\lambda+a}|x-l|}\right| d l}{2 \sqrt{\lambda+a}\left(e^{2 \sqrt{\lambda+a}}-1\right)} \\
& \left.=\sup _{x \in[0,1]}|\psi(x)| \sup _{x \in[0,1]}^{\int_{0}^{1}\left(e^{2 \sqrt{\lambda+a}-\sqrt{\lambda+a}|x-l|}-e^{2 \sqrt{\lambda+a}} \sqrt{\lambda+a}(x+l)\right.}-e^{\sqrt{\lambda+a}(x+l)}+e^{\sqrt{\lambda+a}|x-l|}\right) d l \\
& =\sup _{x \in[0,1]}|\psi(x)| \sup _{x \in[0,1]} \frac{1}{2 \sqrt{\lambda+a}\left(e^{2 \sqrt{\lambda+a}}-1\right)} \\
& \left.\quad-\frac{1}{\sqrt{\lambda+a}} e^{-\sqrt{\lambda+a} x}+\frac{1}{\sqrt{\lambda+a}} e^{-\sqrt{\lambda+a}(x+1)}-\frac{1}{\sqrt{\lambda+a}} e^{-\sqrt{\lambda+a} x}\right) \\
& \quad-\frac{2}{\sqrt{2 \sqrt{\lambda+a}}}\left(\frac{2}{\sqrt{\lambda+a}}-\frac{1}{\sqrt{\lambda+a}} e^{\sqrt{\lambda+a}(x-1)}\right. \\
& \left.\quad \frac{1}{\sqrt{\lambda+a}} e^{-\sqrt{\lambda+a}(x-1)}+\frac{1}{\sqrt{\lambda+a}} e^{\sqrt{\lambda+a}}-\frac{1}{\sqrt{\lambda+a}} e^{\sqrt{\lambda+a}(x+1)}+\frac{1}{\sqrt{\lambda+a}} e^{\sqrt{\lambda+a} a}\right] \\
& \leq \sup _{x \in[0,1]}|\psi(x)| \sup _{x \in[0,1]} \frac{e^{2 \sqrt{\lambda+a}}-1}{2 \sqrt{\lambda+a}\left(e^{2 \sqrt{\lambda+a}}-1\right)}\left(\frac{2}{\sqrt{\lambda+a}}-\frac{1}{\sqrt{\lambda+a}} e^{\sqrt{\lambda+a}(x-1)}-\frac{1}{\sqrt{\lambda+a}} e^{-\sqrt{\lambda+a} x}\right. \\
& \left.\quad+\frac{1}{\sqrt{\lambda+a}} e^{-\sqrt{\lambda+a}(x+1)}-\frac{1}{\sqrt{\lambda+a}} e^{-\sqrt{\lambda+a} x}\right) \\
& \leq \sup _{x \in[0,1]}|\psi(x)| \sup _{x \in[0,1]} \frac{\left(e^{2 \sqrt{\lambda+a}}-1\right) \frac{2}{\sqrt{\lambda+a}}}{2 \sqrt{\lambda+a}\left(e^{2 \sqrt{\lambda+a}}-1\right)} \\
& =\frac{1}{\lambda+a} \sup _{x \in[0,1]}|\psi(x)| \\
& =\frac{1}{\lambda+a}\|\psi\| .
\end{aligned}
$$

Now we have $\left\|(\lambda I-B)^{-1} \psi\right\| \leq \frac{1}{\lambda+a}\|\psi\|$, which implies that $\left\|(\lambda I-B)^{-1}\right\| \leq \frac{1}{\lambda+a}$. So $B$ is a Hille-Yoshida operator with $M=1$ and $\omega_{B}=-a<0$. We conclude that

$$
\left\|(\lambda I-B)^{-1}\right\| \leq \frac{1}{\lambda+a}, \forall \lambda>-a
$$

For $\varphi_{1}, \varphi_{2} \in C_{B}$ and $\left\|\varphi_{1}\right\| \leq C,\left\|\varphi_{2}\right\| \leq C$, we have

$$
\begin{aligned}
\left\|f\left(t, \varphi_{1}\right)-f\left(t, \varphi_{2}\right)\right\| & =\left\|-b(t) \varphi_{1}(-r)-k a-k b(t)+b(t) \varphi_{2}(-r)+k a+k b(t)\right\| \\
& =\left\|b(t)\left(\varphi_{1}(-r)-\varphi_{2}(-r)\right)\right\| \\
& \left.\leq\|b(t)\| \| \varphi_{1}(-r)-\varphi_{2}(-r)\right) \| \\
& \leq b_{+}\left\|\varphi_{1}-\varphi_{2}\right\| .
\end{aligned}
$$

So $K_{f}(\rho)=b_{+}$for $\forall \rho>0$. Moreover, for $\varphi \in C_{B}$ with $\|\varphi\| \leq \rho$ and $0 \leq t \leq T$,

$$
\|f(t, \varphi)\|=\|-b(t) \varphi(-r)-k a-k b(t)\|
$$



Figure 1. A $T$-periodic solution of the delayed reaction-diffusion equation (4.2) with initial condition $\varphi(x, t)=0.5$ for $t \in[-1,0]$, $x \in[0,1]$, where $b(t)=0.15+0.15 \sin (2 \pi t), T=1, r=1, k=0.5$ and $a=1$.

$$
\begin{aligned}
& \leq b_{+}\|\varphi\|+k a+k b_{+} \\
& \leq b_{+} \rho+k a+k b_{+} .
\end{aligned}
$$

So we have $L_{f}(T, \rho)=b_{+} \rho+k a+k b_{+}$. Therefore, assumptions (ii) and (iii) imply $(N+T)\left(K_{f}(\rho)+\|\hat{L}\|\right)<1$ and $(N+T)\left(L_{f}(T, \rho)+\|\hat{L}\| \rho\right) \leq \rho$ in Theorem 3.2, respectively. The conclusion follows from Theorem 3.2,

Now we choose parameters for equation (4.2) such that assumptions in Proposition 4.1 are satisfied. We will perform some numerical simulations to demonstrate the existence of $T$-periodic solutions.

Let $T=1, k=0.5, r=1, a=1$ and $b(t)=0.15+0.15 \sin (2 \pi t)$. We can verify that conditions in Proposition 4.1 are satisfied, so there exists a $T$-periodic solution, which can be seen from Figure 1

Now we change the parameters so that the conditions in Proposition 4.1 do not hold. Let $T=1, a=1, k=0.5, r=1$ and $b(t)=1.5+10 \sin (2 \pi t)$. Figure 2 gives a solution in this scenario.
4.2. The diffusive Nicholson's blowflies equation. We consider the diffusive Nicholson's blowflies equation (So and Yang [15], Yang and So [18, So et al. [14]) (4.15)

$$
\left\{\begin{array}{l}
\frac{\partial u(t, x)}{\partial t}=\frac{\partial^{2} u(t, x)}{\partial x^{2}}-\tau u(t, x)+\beta(t) \tau u(t-1, x) e^{u(t-1, x)}, t \geq 0, x \in[0,1] \\
u(t, 0)=u(t, 1)=k, t \geq 0
\end{array}\right.
$$

where $k$ is a constant and $\beta(t)$ is $T$-periodic. To study existence of $T$-periodic solutions of equation (4.15), let $v(t, x)=u(t, x)-k$. Then we have

$$
\left\{\begin{align*}
\frac{\partial v(t, x)}{\partial t}= & \frac{\partial^{2} v(t, x)}{\partial x^{2}}-\tau v(t, x)+\beta(t) \tau v(t-1, x) e^{-[v(t-1, x)+k]}  \tag{4.16}\\
& +k \beta(t) \tau e^{-[v(t-1, x)+k]}-k \tau \\
v(t, 0)= & v(t, 1)=0
\end{align*}\right.
$$

We know that existence of $T$-periodic solutions of equation (4.16) is equivalent to the existence of $T$-periodic solutions of equation (4.15).

Let $X=C[0,1]$ and let $B: X \rightarrow X$ be defined by

$$
B \phi=\phi^{\prime \prime}-\tau \phi
$$



Figure 2. A solution of the delayed reaction-diffusion equation (4.2) with initial condition $\varphi(x, t)=0.5$ for $t \in[-1,0], x \in[0,1]$, where $b(t)=1.5+10 \sin (2 \pi t), T=1, k=0.5, r=1$ and $a=1$.
with $D(B)=\left\{\phi \in C^{2}([0,1], \mathbb{R}), \phi(0)=\phi(1)=0\right\}$. Let $C_{B}:=\{\phi \in C([-1,0], X)$ : $\phi(0) \in \overline{D(B)}\}$ and define $f:[0, \infty) \times C_{B} \rightarrow X$ by

$$
f(t, \phi)=\beta(t) \tau \phi(-1) e^{-[\phi(-1)+k]}+k \beta(t) \tau e^{-[\phi(-1)+k]}-k \tau .
$$

Then equation (4.16) can be written as

$$
\begin{equation*}
\frac{d y(t)}{d t}=B y(t)+f\left(t, y_{t}\right), t \geq 0 \tag{4.17}
\end{equation*}
$$

Proposition 4.2. Assume that
(i) $\tau>0,0 \leq \beta(t) \leq \beta_{+}$and $\beta(t)=\beta(t+T)$ for $\forall t \geq 0$;
(ii) There exists $\rho>0$ such that $\left(\frac{T}{1-e^{-\tau T}}+T\right) \beta_{+} \tau e^{-k}(\rho+k+1) e^{\rho}<1$ and $\left(\frac{T}{1-e^{-\tau T}}+T\right) \tau\left(k+\beta_{+} \rho e^{\rho-k}+k \beta_{+} e^{\rho-k}\right) \leq \rho$.
Then equation (4.16) thus (4.15) has a $T$-periodic solution.
Proof. Since equation (4.16) can be written as (4.17), it suffices to check assumptions of Theorem 3.2, Let $\psi \in X$ and let $\lambda>-\tau$. Then

$$
(\lambda I-B) \varphi=\psi \Leftrightarrow(\lambda+\tau) \varphi-\varphi^{\prime \prime}=\psi .
$$

By following exactly the same way as in the proof of Proposition 4.1, we obtain that

$$
\left\|(\lambda I-B)^{-1}\right\| \leq \frac{1}{\lambda+\tau}, \forall \lambda>-\tau
$$

which implies that $\omega_{B}=-\tau<0$. For $\varphi_{1}, \varphi_{2} \in C_{B}$ and $\left\|\varphi_{1}\right\| \leq \rho,\left\|\varphi_{2}\right\| \leq \rho$, we have

$$
\begin{aligned}
f\left(t, \varphi_{1}\right)-f\left(t, \varphi_{2}\right)= & \beta(t) \tau \varphi_{1}(-1) e^{-\left[\varphi_{1}(-1)+k\right]}+k \beta(t) \tau e^{-\left[\varphi_{1}(-1)+k\right]}-k \tau \\
& -\beta(t) \tau \varphi_{2}(-1) e^{-\left[\varphi_{2}(-1)+k\right]}-k \beta(t) \tau e^{-\left[\varphi_{2}(-1)+k\right]}+k \tau
\end{aligned}
$$

and

$$
\begin{aligned}
\left\|f\left(t, \varphi_{1}\right)-f\left(t, \varphi_{2}\right)\right\| \leq & \left\|\beta(t) \tau \varphi_{1}(-1) e^{-\left[\varphi_{1}(-1)+k\right]}-\beta(t) \tau \varphi_{2}(-1) e^{-\left[\varphi_{2}(-1)+k\right]}\right\| \\
& +\left\|k \beta(t) \tau e^{-\left[\varphi_{1}(-1)+k\right]}-k \beta(t) \tau e^{-\left[\varphi_{2}(-1)+k\right]}\right\| \\
\leq & \left\|\beta(t) \tau e^{-k}\left(\varphi_{1}(-1) e^{-\varphi_{1}(-1)}-\varphi_{1}(-1) e^{-\varphi_{2}(-1)}\right)\right\|
\end{aligned}
$$

$$
\begin{aligned}
& +\left\|\beta(t) \tau e^{-k}\left(\varphi_{1}(-1) e^{-\varphi_{2}(-1)}-\varphi_{2}(-1) e^{-\varphi_{2}(-1)}\right)\right\| \\
& +\left\|k \beta(t) \tau e^{-k}\left(e^{-\varphi_{1}(-1)}-e^{-\varphi_{2}(-1)}\right)\right\| \\
\leq & \beta_{+} \tau e^{-k}(\rho+1) e^{\rho}\left\|\varphi_{1}-\varphi_{2}\right\|+k \beta_{+} \tau e^{-k} e^{\rho}\left\|\varphi_{1}-\varphi_{2}\right\| \\
= & \beta_{+} \tau e^{-k}(\rho+k+1) e^{\rho}\left\|\varphi_{1}-\varphi_{2}\right\| .
\end{aligned}
$$

So we have $K_{f}(\rho)=\beta_{+} \tau e^{-k}(\rho+k+1) e^{\rho}$ for $\rho>0$. Moreover, for $\varphi \in C_{B}$ with $\|\varphi\| \leq \rho$ and $0 \leq t \leq T$,

$$
\begin{aligned}
\|f(t, \varphi)\| & =\left\|\beta(t) \tau \varphi(-1) e^{-[\varphi(-1)+k]}+k \beta(t) \tau e^{-[\varphi(-1)+k]}-k \tau\right\| \\
& \leq \beta_{+} \tau e^{-k}\left\|\varphi(-1) e^{-\varphi(-1)}\right\|+k \beta_{+} \tau e^{-k}\left\|e^{-\varphi(-1)}\right\|+k \tau \\
& \leq \tau\left(k+\beta_{+} \rho e^{\rho-k}+k \beta_{+} e^{\rho-k}\right) .
\end{aligned}
$$

Hence, we have $L_{f}(T, \rho)=\tau\left(k+\beta_{+} \rho e^{\rho-k}+k \beta_{+} e^{\rho-k}\right)$. Therefore, assumption (ii) implies $(N+T)\left(K_{f}(\rho)+\|\hat{L}\|\right)<1$ and $(N+T)\left(L_{f}(T, \rho)+\|\hat{L}\| \rho\right) \leq \rho$ in Theorem 3.2. The conclusion follows from Theorem 3.2,

Now we choose parameters for equation (4.15) such that assumptions in Proposition 4.2 are satisfied. Let $T=1, \tau=1, k=0.1$ and $\beta(t)=0.025+0.015 \cos 2 \pi t$ in equation (4.15), then it is easy to check that assumptions of Proposition 4.2 are satisfied. So there exists a $T$-periodic solution, which can be seen from Figure 3,


Figure 3. A $T$-periodic solution of the diffusive Nicholson's blowflies equation (4.15) with initial condition $\varphi(x, t)=0.1$ for $t \in[-1,0], x \in[0,1]$, where $\beta(t)=0.025+0.015 \cos (2 \pi t), T=1$, $k=0.1$ and $\tau=1$.

Remark 4.3. When $u(t)$ does not depend on the spatial variable $x$ in equations (4.1) and (4.15), the conclusions in Propositions 4.1 and 4.2 still hold. We then obtain conditions for the existence of periodic solutions in delayed periodic logistic equation (Chen [3) and delayed periodic Nicholson's blowflies equation (Chen 4]), respectively.

Remark 4.4. The techniques and arguments used in this paper can be modified to study the existence of periodic solutions in partial functional differential equations with infinite delay (Benkhalti et al. [1]).

## References

[1] Rachid Benkhalti, Hassane Bouzahir, and Khalil Ezzinbi, Existence of a periodic solution for some partial functional-differential equations with infinite delay, J. Math. Anal. Appl. 256 (2001), no. 1, 257-280, DOI 10.1006/jmaa.2000.7321. MR1820080
[2] Rachid Benkhalti and Khalil Ezzinbi, Periodic solutions for some partial functional differential equations, J. Appl. Math. Stoch. Anal. 1 (2004), 9-18, DOI 10.1155/S1048953304212011. MR2068378
[3] Yuming Chen, Periodic solutions of a delayed periodic logistic equation, Appl. Math. Lett. 16 (2003), no. 7, 1047-1051, DOI 10.1016/S0893-9659(03)90093-0. MR2013071
[4] Y. Chen, Periodic solutions of delayed periodic Nicholson's blowfies models, Can. Appl. Math. Q. 11 (2003), no. 1, 23-28, DOI 10.1016/j.cam.2010.10.007. MR2131833
[5] Arnaut Ducrot, Pierre Magal, and Shigui Ruan, Projectors on the generalized eigenspaces for partial differential equations with time delay, Infinite dimensional dynamical systems, Fields Inst. Commun., vol. 64, Springer, New York, 2013, pp. 353-390, DOI 10.1007/978-1-4614-4523-4_14. MR2986943
[6] K. Ezzinbi and M. Adimy, The basic theory of abstract semilinear functional differential equations with nondense domain, Delay differential equations and applications, NATO Sci. Ser. II Math. Phys. Chem., vol. 205, Springer, Dordrecht, 2006, pp. 347-407, DOI 10.1007/1-4020-3647-7_9. MR2337821
[7] Khalil Ezzinbi and James H. Liu, Periodic solutions of non-densely defined delay evolution equations, J. Appl. Math. Stochastic Anal. 15 (2002), no. 2, 113-123, DOI 10.1155/S1048953302000114. MR1913888
[8] Jack K. Hale and Sjoerd M. Verduyn Lunel, Introduction to functional-differential equations, Applied Mathematical Sciences, vol. 99, Springer-Verlag, New York, 1993. MR 1243878
[9] Moussa El-Khalil Kpoumiè, Khalil Ezzinbi, and David Békollè, Periodic solutions for some nondensely nonautonomous partial functional differential equations in fading memory spaces, Differ. Equ. Dyn. Syst. 26 (2018), no. 1-3, 177-197, DOI 10.1007/s12591-016-0331-9. MR3759986
[10] Yongxiang Li, Existence and asymptotic stability of periodic solution for evolution equations with delays, J. Funct. Anal. 261 (2011), no. 5, 1309-1324, DOI 10.1016/j.jfa.2011.05.001. MR2807101
[11] Yong Li, Fuzhong Cong, Zhenghua Lin, and Wenbin Liu, Periodic solutions for evolution equations, Nonlinear Anal. 36 (1999), no. 3, Ser. A: Theory Methods, 275-293, DOI 10.1016/S0362-546X(97)00626-3. MR 1688231
[12] James H. Liu, Bounded and periodic solutions of finite delay evolution equations, Nonlinear Anal. 34 (1998), no. 1, 101-111, DOI 10.1016/S0362-546X(97)00606-8. MR1631661
[13] Pierre Magal and Shigui Ruan, Theory and applications of abstract semilinear Cauchy problems, Applied Mathematical Sciences, vol. 201, Springer, Cham, 2018. With a foreword by Glenn Webb. MR 3887640
[14] Joseph W.-H. So, Jianhong Wu, and Yuanjie Yang, Numerical steady state and Hopf bifurcation analysis on the diffusive Nicholson's blowflies equation, Appl. Math. Comput. 111 (2000), no. 1, 33-51, DOI 10.1016/S0096-3003(99)00047-8. MR 1745907
[15] Joseph W.-H. So and Yuanjie Yang, Dirichlet problem for the diffusive Nicholson's blowflies equation, J. Differential Equations 150 (1998), no. 2, 317-348, DOI 10.1006/jdeq.1998.3489. MR1658605
[16] Qiuyi Su and Shigui Ruan, Existence of periodic solutions in abstract semilinear equations and applications to biological models, J. Differential Equations 269 (2020), no. 12, 1102011061, DOI 10.1016/j.jde.2020.07.014. MR4150366
[17] Jianhong Wu, Theory and applications of partial functional-differential equations, Applied Mathematical Sciences, vol. 119, Springer-Verlag, New York, 1996. MR 1415838
[18] Yuanjie Yang and Joseph W.-H. So, Dynamics for the diffusive Nicholson's blowflies equation, Discrete Contin. Dynam. Systems Added Volume II (1998), 333-352. Dynamical systems and differential equations, Vol. II (Springfield, MO, 1996). MR1722481

Centre for Disease Modelling, Laboratory for Industrial and Applied Mathematics, York University, Toronto, Ontario M3J 1P3, Canada

Department of Mathematics, University of Miami, Coral Gables, Florida 33146


[^0]:    Received by the editors October 10, 2019, and, in revised form, July 8, 2020.
    2020 Mathematics Subject Classification. Primary 35B10, 35K90, 35L60, 35Q92, 37L05, 47J35.
    Key words and phrases. Partial functional differential equations, Hille-Yosida operator, periodic solutions, reaction-diffusion equation with time delay, diffusive Nicholson's blowflies equations.

    This research was partially supported by National Science Foundation (DMS-1853622).

